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AB = 8cm, BC = 12cm, AE = 42cm DEA ABCD — EFGH 23% 2. I BF,CG RIcZ2NFNHEP,Q2E215LE, X
DINCEZ X (SH1740%, Af3%, B4 308, C#6%)

(1) H1DEIWCAP+PQ+QHIZOWTEZLSL. ZNDRNMIHDEE, QGDEIZRD L.
(2) 2D XIHIITAP+PQ+QFIZDOWTEZL. TUWR/NMNIELEE, QCOEIZRD X.
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AB = 6cm, BC = 8cm, AE = 25cm DE A ABCD — EFGH 2% %. i BF,CG LIZZNFNHP,Qz2EZL5 L E, X
DRNCEZ X (SH1740%, AM34r, Bik44sr308, C#657)

(1) H1DEHIITAP+PQ+QHIZOWTEZL. TUBR/NMNIAEZ EE, CQDEIZRD K.
(2) K2DXIICTAP+PQ+QFIZOWVTEZL. NN RZEE, CQDEI%ZRD L.
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RE7TAN ME EXNE RELORENERE MALUCAHA 01 BEES

AB = 8cm, BC = 12cm, AE = 42cm DEA ABCD — EFGH 23% 2. I BF,CG RIcZ2NFNHEP,Q2E215LE, X
DINCEZ X (SH1740%, Af3%, B4 308, C#6%)

(1) H1DEIWCAP+PQ+QHIZOWTEZLSL. ZNDRNMIHDEE, QGDEIZRD L.
(2) 2D XIHIITAP+PQ+QFIZDOWTEZL. TUWR/NMNIELEE, QCOEIZRD X.
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2.

AB = 6cm, BC = 8cm, AE = 25cm DE A ABCD — EFGH 2% %. i BF,CG LIZZNFNHP,Qz2EZL5 L E, X

DINZEZ X (S#1740%, Af34r, B4 308, C#645)

(1) H1DEHIITAP+PQ+QHIZOWTEZL. TUBR/NMNIAEZ EE, CQDEIZRD K.
(2) K2DXIICTAP+PQ+QFIZOWVTEZL. NN RZEE, CQDEI%ZRD L.
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